pgs Juas

p—

s,

MATLAB

oSz e 550



LQé\J‘)T ‘09».) ‘J..a.‘a

R CH
“\%.‘)] Sl sy,

[ 1o, 7 ok jloolanull

: Codle jloslaiul b

logspace , linspace s jl solaul L .
398 Sleds, 5l oS 5 5l ookl b

D WN R

oy sl 50



LQé\.:‘)T ‘090 ‘J..a.‘a

[1 5,05 odle 5l oolinul b asl)T olol =V =) -Y

Dgls o oolaiul

s

>> a=[1,2,3:4,5,6]
a=
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>> b=[1,2,3,4,5,6]
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>>x=(0:0.1:1)*pi,
>> y=sin(x);

>>7=1:5
=
12345
>>t=5:1
t =
Empty matrix: 1-by-0
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ArrayName=linspace(first,last,length)
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>>x=linspace(0,1,11)*pi;
>>y=|ogspace(1,3,3)
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>> x=[0,1,2,4:2:12 ,18,19]
X=

012 4681012 18 19
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>>ones(2,3)
ans =

1 1 1

1 1 1
>>ones(2)
ans =

1 1
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>>x=[123;456; 789];
>> y=2*%X + 4

y=
6 3 10
12 14 16
18 20 22
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>>a=[246; 356; 10 -10];
>>p=[-100;211; 00 3];
>>c= (2*a ./ (b+1)) .~ 2
C =

Inf 64 144

4 25 36
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>>a=[246; 356; 10 -1 0};
>>SinA=sin(abs(a) / 10)
SinA =
0.1987 0.3894 0.5646
0.2955 0.4794 0.5646
0.8415 0.0998 0
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>>a=[123
456
/7 8 9];
>>kl1=[1,2];k2=[2,3];
>>b=a(kl,k2)
b=
2 3
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>>size(a)
ans=
2 <
>>[r, c] = size(a) >>r=size(a, 1) >>c=size(a,2)
r= r= c=
2 2 4
C=
4
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